
Answers 

1. 540 ÷ 15 = 36 

2. 3496 ÷ 23 = 152 

3. 2254  ÷  49 = 46 

4. 5523 ÷  21 = 263 

5. 3822 ÷ 98 = 39 

 

6. 5 

[1] 

7. 7 hours and 24 minutes 

[1] 

8. 
2.5 

Accept equivalent fractions or decimals 

[1] 

  

9. 
Award TWO marks for the correct answer of 75 

If the answer is incorrect, award ONE mark for evidence of appropriate method, 
eg: 

•        30 × 50 = 1500 
1500 ÷ 20 

OR 

•        30 × 50p = £15 
5 20p coins make £1 
5 × 15 

OR 

•        50p ÷ 20p = 2.5 
30 × 2.5 

Answer need not be obtained for the award of ONE 
mark. 

Up to 2 

[2] 

 

 



Q10. 
Award TWO marks for the correct answer of 13 

If the answer is incorrect, award ONE mark for evidence of appropriate 
method, eg 

500 ÷ 15 = 33 

500 ÷ 25 = 20 

33 – 20 

Award ONE mark for an answer of 13  OR 13. ˙3 
OR 13.3 OR 13.33, etc. 

Award ONE mark for sight of 20 AND 33 with no 
evidence of an incorrect method. 

Answer need not be obtained for the award of ONE 
mark. 

Up to 2 

[2] 

 


